
Parts of Model BADU RESORT 60 , 70 , 80 , 110

POOLSPA CODES ARTICLE NO. PART NO. QTY DESCRIPTIONS RETAIL PRICE 2025

20711930010 290.2010.104 Housing,110 mm, black incl. drain cap                       26,000.00 

20711931055 290.2010.117 Housing,110 mm, blue incl. drain cap                       26,000.00 

20711930015 290.2011.300 113 1 Flange                         5,800.00 

20711930020 290.2014.300 143 1 Strainer basket                         2,000.00 

20711930025 290.2016.010 160.1 1 Transparent lid                         3,200.00 

20711930030 290.2016.020 160.2 1 Ring for lid, black                         3,200.00 

Gland housing

20711930035 290.2016.122 For BADU Resort 60, 70, 70-PM and 80                         3,600.00 

20711930040 290.2016.121 For BADU Resort 110 and 110-PM                         3,900.00 

Diffuser 

20711930045 290.2017.422 dia = 90mm, for BADU Resort 60,70,70-PM and 80                         2,800.00 

20711930050 290.2017.426 dia = 110mm, for BADU Resort 110 and 100-PM                         3,400.00 

lmpeller

20711930385 290.2023.0069 dia = 117.5mm, b = 20mm, BADU Resort 60                         5,400.00 

20711930390 290.2023.007 dia = 122.5.mm, b = 20mm, BADU Resort 70                         5,400.00 

20711930395 290.2023.024 dia = 120.mm, b = 20mm, BADU Resort 70-PM                         5,400.00 

20711930055 290.2023.008 dia = 127.mm, b = 20mm, BADU Resort 80                         5,400.00 

20711930060 290.2023.009 dia = 145.mm, b = 15mm, BADU Resort 110                         5,400.00 

20711930400 290.2023.025 dia = 141.mm, b = 15mm, BADU Resort 110-PM                         5,400.00 

20711930065 290.2041.210 412.1 1 O-Ring for lid, 175 x 6.5 mm                         1,200.00 

20711930070 290.2041.220 412.2 1 O-Ring for gland housing , 265 x 6mm                         1,300.00 

20711930075 292.0341.210 412.5 1 O-Ring for diffuser 123.19 x 5.33mm                            700.00 

20711930080 292.3541.222 412.6 1 O-Ring for impeller nut,16.9 x 2.75 mm, Viton                            500.00 

20711930085 292.0341.210 412.11 2 O-Ring forpipe conections, 123.19 x 5.33 mm                            700.00 

20711930310 292.0343.310 433 1 Mechanical seal cpl., 20 mm                         2,700.00 

20711930095 292.0850.702 507 1 Spritzringring 18 x 45 x 4mm                            500.00 

20711930100 587.1250.802 554.1 16 Washer, dia = 8.4 mm, A 2                            300.00 

20711930100 587.1250.802 554.2 4 Washer, dia = 8.4 mm, A 2                            300.00 

20711930110 587.1250.601 554.11 4 Washer, dia = 6.4 mm A 2                            200.00 

1174.2

1230*

“SPECK PUMP”  -  BADU RESORT 60 , 70 , 80 , 110

1101

1161.2



20711930115 290.2099.800 577 1 Opening device                         1,300.00 

20711930120 290.2058.00 580 4 Hexagon cap for nut M 6                            500.00 

20711930125 292.1658.200 582 1 Drain cap, G 3/8, yellow, with gasket                            500.00 

20711930130 290.2059.500 592 2 Plate, 26 x 11 x 2.5 mm                            700.00 

20711930135 292.0359.501 595 1 Rubber buffer, 10 x 10 x 27 mm.                            500.00 

20711930140 290.2059.501 595.1 1 Rubber buffer, 9.5 x 12.5 x 27                            500.00 

Union, consistsing of :

20711930145 290.2072.112 Union  nut glue socket dia = 110 mm                         2,700.00 

20711930150 290.2072.103 Glue socket dia = 110 mm black                         1,800.00 

Three- phase motor

20711930405 297.0260.004 2.60 kW, 400/230 V, for BADU Resort 60  POA 

20711930410 297.0300.003 3.00 kW, 400/230 V, for BADU Resort 70  POA 

20711930415 296.0300.00 3.00 kW, 400/230 V, for BADU Resort 70  POA 

20711930155 297.0400.004 4.00 kW, 690/400 V, for BADU Resort 80  POA 

20711930160 297.0550.001 5.50 kW, 690/400 V, for BADU Resort 110  POA 

20711930420 296.0550.000 5.50 kW, 690/400 V, for BADU Resort 110- PM  POA 

20711930165 290.2089.400 894 1 Motor foot  POA 

Abapter for motor foot

6 for BADU Resort 60,70 and 80

10 for BADU Resort 70 -PM and 110-PM 

2 for BADU Resort 110 

20711930180 292.1690.002 900 12 Screw, 7 x 48.4 mm, A 2  POA 

20711930185 587.9825.522 900.1 3 Countersunk screw, 5.5 x 22 mm, A 2  POA 

20711930190 290.2090.020 900.2 2 Screw, 4 x 16 mm, A 2  POA 

20711930195 587.9120.665 914.1 4 Hexagon socket screw, M 6 x 65 A 2  POA 

20711930200 587.9120.835 914.2 4 Hexagon socket screw, M 8 x 35, A 2  POA 

20711930170
894.1

 POA 

2721

1800

292.0389.410


